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General Instructions : _
1. The question paper consists of four sections : A, B, C and D.
° Section A consists of 6 questions of 1 mark each.
. Section B consists of 6 questions of 2 marks each.
o Section C consists of 10 questions of 3 marks each.
e  Section D consists of 8 questions of 4 marks each.

2. All the answers must be correctly numbered as in the question paper and
written in the answer sheet provided to you.

3. All questions are compulsory. However, internal choices have been given 1n
some questions.

4. In questions of construction, the drawing-should be neat and exactly as per
the given measurements. Use ruler and compass only.
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Section-A (@s-H)

Question numbers 1 to 6 carry 1 mark each.

T WS | ¥ 6 Th YO WA H 1 SF

SN

1. Express 16 as sum of odd numbers. |
16#@3@13#%W$;wﬁ%@ .
OR (37era) ;

Find the square root of the sum of the cubes of first three natural numbérs"
Teddl T wipfE Wenst % wA % 4w w1 aige W@ H

2. If 3* = 81, find the value of 9*.
T 3*=81%, & 2° % wH = Hife)

3.  The population of a small village is 1000. If annual birth rate is 10% and annual
death rate is 3%, find the population after one year.

@@ﬁﬁvﬁaﬁm1ooo%|wﬁ<arrf%faswax10%%aﬁtaﬁagqav3%
g W TH a9 a” W Een 9 Hifsral | ‘

- OR (3Aeran) P,
For an article whose selling price is ¥ 4,200, a customer paid % 5,376 including
GST. Find the rate of GST charged on the article.

T o e o gew 4,200 €, Th Wes ¥ GST uheg ¥ 5,376 P fipy

9 W & T GST * R I SIS
4. Which alphabet in the word “POSITIVE” has rotational Symmetry of order 2 ?

W= “POSITIVE” & {9 otam &1 qoiy gufafy o 2 39

5., PM L X-axis, where P is 2 point whose coordinates are (3, 4). Write the
coordinates of point M. :

PM L X-axis W &= 8, s&i P us foig & frad Frdens @, 4 % g M & frdwrs
fafeq)

Vill-Mathematics : (2)



20

X \r)(‘:g‘:
6.” Find the measure of %’ in the given figure.
R} T pfa W 9 W OAE T SN
> '

Section-B (&E-9)
Question numbers 7 to 12 carry 2 marks each.

g TEm 7§ 12 9% TEE WA % 2 3% Tl

7. Evaluate : %/gl + 325 + 98

| HE S| CAIE L 361+3\/25+§/§

0 3
8  Solve for x : X _4=2
g 2 3 3 5
. 5x 3x : -
v % fau & T - —3——4:—5-
9. 1Inthe

given figure, line m is parallel to line n and £1 = 2 »2. Find the measure
of Z1 and Z2. :

ﬁﬂémﬁ,i@m%@nﬁmﬁ'(%

iR s1=2 /2% £1 3R £2F AR
I il

pEVaE
«— / 2 — N
OR (31ydn)

(3)
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10., Plot the points A (3, 4) and B (5, 2) on a graph. Write coordinates of one point
>~ other than A and B which lies on line AB.

12.

Alternative question for visually challenged students in lieu of Q. 10

-

In the quadrilateral ABCD, DA L AB and CB L AB. Prove that ZC + £D = 130,
=q4 ABCD #, DA L AB #iR CB L AB 2/ fag #ifw¢ ff £C + £D = 180° %

D | c\%/wofﬂ jﬁ79

A B

-

% A3, 4) 3t B(5,2) # w sem w awiEw A s B F R fig
& frwis fafew st fF 3@ AB w fem @)

Find length of each side of a square whose area is 441 cm?2. .
ma@w%wmmmﬁfﬁ%mﬁmm
Waﬁﬁfmwaﬁm@mﬁmﬁwmﬁlaﬁ@ﬁ%l <

Is the following solid a polyhedron ? If yes, then write th
vertices and edges. .

wﬁﬁmwaﬁm@a@wé?aﬁﬁ,ﬁmwﬁ,ﬁﬁaﬁww
H HEN Fa st '

e number of faces,

A piggy bank contains number of coins of % 2,¥5and 7 10 a5 given below -
T 2 5 T 10
20 14 16

If a coin is taken out at random, then find the probability that the coin is of
i 5 (i) ¥ 10

VIll-Mathematics (4)




@Wﬁﬁmm%m%z z5aﬁ1?10$§®ﬁﬁ%%—

"X 2 3 5 3 10
- 20 14 16 , :
R wF fowm agesa freen W@ e wirwa 9@ S fF 9w faaw-
@ 5% @ Gi) T 10 ® @ |
OR (3dn)

X A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn
at random, find the probability that it bears :

(1)  a perfect square number (i) a number divisible by 5

T fesd § 19 90 @& 1 A HeA Tl 90a¢ﬁmﬁlﬂﬁ@aﬁwﬁw
Gﬂ?ﬁ‘% & Wi I T B aed W e e

(i) Tk i o wWen @ Gi) T 59 favwe wem @

Section-C (Ee-9)
'Question numbers 13 to 22 carry 3 marks each.

WG"@T13@22W9@65W#33W%’|

13. If Ja x /b = «/ax find J3675 x V2352
afg JEXI w/ax b2 A J3675 x /2352 1 HM sﬂ?r?#rml

1
< 1Ly
e 3 3
14. Simplify : W@ =wfwm ;| 9] 64 +125
OR (312rm@r)
x 2x
If (%) (g) = % then find the value of ‘x

qﬁ(g)x.(i)zx 3@ 9 W AR W R
3 2 16

VllI-Mathematics (5)



15. A 250 m long train is moving at a constant speed of 72 km/hr. How much tlmg
will it take to cross a bridge 150 m long ? ‘

T 250 W, wE Y@, 72 fRd. uf w2 @ fer U @ W @ 2 TF 150 @
T Id H R wH W FE A W o?
| OR (3%

In a model of a ship, the mast is 9 cm high, while the mast of actual ship is

\ 12 m high. If the length of the actual sh1p is 28 m long, how long is the model
ship ?

TF W™ % Hed H wd 9 @mﬁ. T SHfh orEdfas e $ T 12 #H S )
AR IR We™ % de 28 WL © A RN & Aied w1 ovard g4 82

16. A shopkeeper offers a discount of 20% on all the articles at his shop and still
~/_makes a profit of 12%.-What j is the cost price of an article Whose marked price

e

is¥280°?
(_,/

>

TH 3*14{1{ SO TR T WA TG W 20% HT wE [ &+ yvEwg o iZ% T AT
W%lwaﬁmmwwmmmw?%o%?

17. The present cost of a car is ¥ 3,82,725. If its value has depre01ated at the rate

~of 10% per annum, what was 1ts cost 3 years ago ? Also, find the total
depreciation.

\

TF HR FN TGAH Y T 3,82,725 ¥ B H 3 = qd S I
10% 9@ 94 &1 W ¥ &F 2 FoA FA N w@ A

18. Factorise using suitable algebraic identity :
az £ -:]i-b2 " 1 2 1 2

—c® +ab-=bec-Zca

9

Ifeq gaafHdR F FE R OPHEE Hifu—
1 12, gp-1p._ 2
a2+—b2+§¢ + ao Bbc 5 ca

VIlI-Mathematics (6)




9., Using long division method show that (3x + 2) is a factor of the polynomial
(11x + 20x2 + 12¢° + 2).

wmﬁfumwﬂi“lﬁﬁ(Bx+2)a§qa(11x+20x +12x3+2)m11ma:%|

OR (31¥4Tn)
Simplify:by method of factorization.

_82+15
_ 95

20. In the given figure, PQ is a transversal intersecting lines AB and CD. Find the
measures of angles x and y. Hence, prove that AB Il CD. |
'cfrﬂiem?ﬁdﬁ PQABaﬂICDﬁgﬁ%HﬁﬂE%@%Ixaﬁ‘{yaﬁvﬁéﬁm
A Fifew em: fog @it & AB Il CDI

21. In the parallelogram PQRS of the given figure, the bisectors of ZP and ZQ
meet SR at O. Show that ZPOQ = 90°.

& T eepfd H WA =g PQRS ¥, /P 3k £Q & wHgw® SR & O W e
2 =g & £POQ = 90°! s 0 &

Vill-Mathematics (7)
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22.

In a rectangle ABCD, BM 1 AC and DN L AC. Prove that :

() AABM = ACDN (i) BM = DN

TF 3Ed ABCD #, BM L AC iR DN L AC &1 fag ®ifme-—

(i) AABM =ACDN (Gi) BM = DN

The area of the base of a right mrcular cyhnder is 154 ¢cm? and its helglggzl
8 cm. Find the curved surface area of the cylinder. Use © = e

Th AGAT SoF % AR F dher 1654 9 A R st It S 8 9 %léj
F Tk TS @ET T iR /j,r:%;ﬁﬁ-mj

Section-D (Fs-3)

Question numbers 23 to 30 carry 4 marks each.

T HEA 23 ® 30 9% Y&F W * 4 5% 3

23.

24.

Vill-Mathematics

The cost of levelling a square lawn at the rate of Z 2.50 per m? is ¥ 13322.50.
Find the cost of fencing it at the rate of 7 O per metre.

@Wﬂﬁﬂ?ﬁwmﬁwaﬁizmuﬁaﬁﬁ F W W T 1332250
ﬁ:ﬁéﬁaﬁfsﬁxi5gﬁrﬁr ﬁﬂ@m@amﬁﬁammaﬁﬁm

The difference between the compound interest and the simple interest on a

certain sum of money at 15% per annum for three years is ¥ 1134. Find the

sum.
WWm?ﬁﬂaﬁéﬁmM%aﬁaﬁaﬁmﬁmaﬁTmWWﬁw
T 1134 21 ¥ @@ Fifew

(8)




25. Simplify using suitable algebraic identity :
(2a + 3b)* + 2 (2a + 3b) (2a — 3b) + (2a — 3b)?
ten weufiw g W@ wifsw

(2a + 3b)% + 2 (2a + 3b) (2a — 3b) + (2a — 3b)?

OR (31¥an)
17 - | 1

If x+—=—, find the value of x” 5.
x 4 x

1 17 1 ;
ag x+—="" 2, QA x2-—2 %1 HH A@ i
_x 4 x

26. The sum of a two digit number and the number obtained by reversing the order

of the digits is 165. If the digits differ by 3, find the number, when ten’s digit
is bigger than the unit’s digit. |

Th Q FHF o TN R HF F W H Wed 9§ o Wed &AM 165 ®1 AR

SE § 3 W T, @ Wew wW HIT VEfE @ W oiF TEE % e § wel 8l

27. Construct a quadrilateral ABCD in which AB =5 cm, BC = 6 cm, CD = 8 cm,
/B = 120° and £C = 90°. -

w =qds ABCD #1 w1 sifs s AB = 5 9., BC = 6 9., CD = 8§,
/B = 120° 3R £C = 90° @I - ‘
Alternative question for visually challenged students in lieu of Q. 27

By selling a watch for ¥ 1140, a man loses 5%. What should be the selling price

of the watch if he wants to gain 5% on it ?

g wEm 27 % A W gheatyw famfiat & fau dwfew wel

@Wﬁﬂﬁ@a@ﬁﬁ?1140“@@‘{15%6???%%%[3@?%%@@
T T Wifeu afs gg 5% 1 NN =ed §7

Vill-Mathematics (9)



28." AABC and ABDC are tyq isosceles tri
 60° ang <BCD = 750,

angles on the same base BC. If 2Ap:

&
Ve
X

find all angleg of quadrilateral ABDC,

W T D wlgEg Ao ¥ R AABC=
€ @ w39 ABDC % wh wm & T W Wi

A

60°
WA C
75°

29,

OR (37emam)

The parallel ‘Sides of a trapezium are 40 cm and 20 cm. If jitg non-paralle] sides
e _

both equal, each being 26 cm, find the area of the trapezium.
are bo , eacl

: agﬁaaﬁgqﬁ(ﬁsﬂﬁaﬁm40ﬁ.ﬁ.3ﬁ?20ﬁ.ﬁ. B o v
T gHAd |

. Hmﬁm,g%ﬁ.ﬁ.%,aiwamﬁmmﬁﬁm
STEHIR

(10)
VilI-Mathematics |




' 80. The number of hours for: which the television is watched in a dayb by the
. - students of a class during holidays is shown in the following histogram. Observe

it and answer the questions given below :
wH wa % i g sEEm % SNE Wi deifem dwd & 9 # e o
fox g <ui T R W SEewt A oae @ s difse-

y-axis

7 N 32
32 1-. ,

28 ;
24 T 22

Number of students —
2

8 8
8T — 6
4
4 ——
_, X-axis
0 _ T
1 2 3 4 5 6

gfafcd TV 3@ & ¥ —
Hours of TV watched per day —

- ) l‘ . ‘?
(i) For how many hours the minimum number of students watch Television !
i

i o
For how many hours the maximum number of students watch Television ¢
or ho

(i1)

(i1ii) How man

g
y students watch Television for less than 4 hours ?

?
nts watch Television for more than 5 hours !

(iv) How many stude
oy Frel e R et €
mmﬁmﬁmﬁﬁﬁﬁmé@ﬁé7
@mé&ﬁﬁﬂé@ﬁaﬁmﬁmeﬁ%?
fey foremeff €7

@)
(i)
(i) 4

; VIII-Mathemati_cs ,



Alternative question for visually challenged students

in lieu of Q. 30

(12)
VIll-Mathematics



Value Points/Key Points

S. No.
{
Section-A
1. 16 =1 + 3 + 54+ 7 (‘QF\;L o.Her L'anqb:'n-tt_‘h?(/w |
OR Uk S+, 7+9 ek)
r

o \/?3 + 99 438

ot =16 ¥

Net growth = 7%
Population after one year = 1070
OR

GST = 7 (B376 - 4200) = ¥ 1176

1176 |
SQmy), .. ——— X 100% = 28%
GST% = 4900

-




10.

V4

Sectlon-B

361+ 325 + 2 2”3\,61+§/—-
o =Ye1+3=Yod =4
S

»

5:15 ~ §_x _4 i il
3 5

16x

=4 EV—
= 15 —

—
= 1 )
Since, line m !l line n -

= Z1 + £2 = 180° (co-interior angles) U‘f

= 272 + £2 = 180° / -
= ,_/_2 =z 60° ""—'—“:ﬁ /(,.
= £1 =180°-60° =120° [/ /—"

OR
DA 1 AB and CB 1 AB

= AD Hl BC (itwo lines L Lo same line are parallel

to each other)

AD Il BC = /C + ZD = 180° (co-interior angles)

. c )
IFor correct plotting of each point 4>/\,b) §l _

For writing correct coordinates of any point on the

line joining points A and B. (0, 7), (7, 0), (1, 6) etc.

(any point satisfying equation x +y = 7)




students in lieu of Q. No. IE)
Side of square = J441 em
= \/3X3X7x’icm
= 21 cm
11. Yes, it is a polyhedron
Faces = 8
Vertices = g
Ldges = 12 o
. 14 7
12, PE5H = — e o
W \8) 50 or 25 ey ] . ﬁ’/b
- Yo ___—
() P (R 10) = — o o5 N /
(2 mark may he wwarded for firding total no. of coins = 50)
U B *\,': OR ', |
By S~ 9 1
{ &S T: : ) ) —_ — -
2\ % (1) P (a perfect square number) 90 °r T
DL 18 1
Y (i1} P (a number divisible by 5) = 90 T ©
Section-C
(3.. J3675 = \/3><5><5><t7'x7
L \/2352'=.\/2r2><2x2><3><7><7
¢ J3675 = V3675 x /2352 = ,[3675 x 2352
" J3><5x“><7><7><2X2'X2"<2x3x7><7,
’.- =2xzx3x5><7><7 N
& ;
| = 2940 U
MS/Mathematics



%/

v 1
Y ] l 3 14
14, 9[(43)3 v (598
S [9x(4+ 5)3]4 QV/
1 QMQ")" U | o
= 9437 % ——
o >J |
= 9 e
OR
§_——x §)2x—(§)4 B =
2) \2) \z) 7 4
' 2wt ) . "‘“"_‘d) Az
N\l i] (8) e
"\ — 2) \2) ¥
lases o - —_— 4 B \w -
g e e 5 3 f%v“vv
s / -
, 5
15. Speed of train = 72 x 3 m/sec = 20 m/sec
Distance covered by train to cross the bridge
= (250 + 150)m
9 ] =400 m S e
I«P< X v"/ Distance 400
v 7| Time taken = =-— = onosec. =20 seconds .
; [J,}B Speed 2()
7 t' s . 'y
f/ Phus, (rain will take 20 sec. Lo cross the bridge,
¢ OR
Lei the length of model ship be x cm
1 e i Al . v ]
_bength of model ship (in c¢m) 9 x
Length of actual ship (in metres) 12 28

MS/Mathematics q




16.

xS

M\
Since, they are i(direct varia@ &

9 X

SITRE M
=.x = 21 em - le/ i

Thus, the length of mode] ship is 21 cm.

M.P. x (100 - D%) %
Selling price of(article = (100 0) I v’
K 280 x 80
\O T =
~ k"’ \\ = T 00 T 224
S.P.x100 1
Cost price of article = (100 + P% ) 4
3 224 x 100 ~7 200
112
n .
A:P[l——-——\ }"V
100
10 P
— 382725 =P (1 - -1—0—6) i
{ e%’y\/
L

33
— P =382725 x (190J =¥ 525000

Cosl of car Lhree years ago was < 5,295,000 @)’
Total depreciation = ¥ (525000 — 382725) = 4 1,%2,275
. } 3h)
v Vv

2, 12,1 2+a'.b——1-bc—gca
3 3

= %



19.

{

20

\/‘

7«,3&

U MS/Malhematlcs

(L, 10\2
=|a- '_2- ) 3 )
/ 1 1 ) 1 1 )
. e — — - - _(‘ ’\
- \aa 2() 301(04 2b 3
Standard form = IZx + 20x2+ llx + 2 e
42 + dx + 1
3x +2) 12¢8 + 206 + 11x + 2 (
23 + 8x2
1297 + 11x + 2
x? + 8x
XKT, + 2
3x + 2
0
" .
'}‘Since, remainder = 0 :L )
f, 3x + 2 is a factor of given polynomial. 6}
e OR
22 - 82+ 15 = (z - 5)(z -~ 3) 7{,'2:51’3 Z 1§ Q,
"
and 28~ 25 =(z + 5) (z — z -8
( ) (Z 5) 5 (\_ -—3)".’}(.’1“ ':_),_,)_- ’\{
- 82 +15 2-3 —= -
i % = 'ky '-h) (_J" \
- 95 z+5 z-Y
(A9 L
x = 180" — 50° = 13 Aneledt ZRICE
80 — 0% (linear pair of angles) | NSNS ,'
Yy = 130° 2

(Vertically opposite angles) .. (2y 1\<
From equatmns (1) and (2)

X =y

= AB I ¢CD (- -, alternate interior

Tl . N

angles are equal) |



22.
;‘ N\ ‘2 - ) 2 W
/@i)/: nr = 154 c¢m )..31/ \
P S ',/ """" -\ \_4

21 Since, PQRS is a llgm
o, 2P+ 2Q = 180°  (adjacent angles of a llgm)
» L Yopyelgo0r A
| 2 2 :
hoi oo
b = £0PQ + £0QP = 90° ...(1) (OP and 0Q are bisectors)
/ In AOPQ, by angle sum property
4 Z0PQ + £0QP + ZPOQ = 180° %/
— 90° + #POQ = 180° using equation (1)
= £POQ=190° K-
| OR y
B — Lv”’& 1
N . }, WL‘ v
A i D
(1) In ‘sﬁbN and /xCU\I
y. AB =CD (opposite sides of rectangle)
Al y;r /BAM = ZDCN | (alternate interior angles)
f a\;rf" N LAMB - /ZCND = 90° (glvon) 3{3
\Jy{%{, b /‘\ABM ACDN (by AAS congluence cnterlon)
g A (ii) BM = DN (by cpct)

(Area of base = 154 cm? I:ﬁ*

- = \15;; 7 an J7x7cem="Tcm /,@

Curved surface area of cylinder = 2nrh \"@

(]E % X _2_’7% x 7 x 8 cm (ﬂ

\!

']L*: 352 cm® Q/

MS/Mathemaltics 7



25.

23.

24.

Section-D

13322.50 2 5329 m? U
Area of square lawn = 9.50

>, Side of square lawn = \/.)329 m = 73 m

Length of fence Leqmred = perimeter of square, lawnl.
4 x side = TX 755 = 299

2., Cost of fencing the lawn = ¥ 292 x ] J

= ¥ 1,460
Let perimeter be ¥ P
sl =z ExX18x3 _ .95
100 20 oA,
i ] (-"f{/ J43 )~ /(

n v
r SR/
Cl=" [1 * *()n) -1 i\\:

100 8000 (D¢ gégj-%
B I\

It 1s given that :
C.L. - S.1. = 1134
From equations (1) and (2) Ji

k.
4167, 9 p 1134
8000 20 )
-‘ P
., Poglld4x 8000 _ - 7 16, 000 J
567 _

(2a¢ + 3b)% + 2 (2a + 3b) (2a — 3b) + (2a — 3b)?
= (4a® + 12ab + 90% + 2 (4a® - 9b%) + (da? - 12ab + 9b?)

= (4a® + 8a? + 4a®) + (12ab - 12ab) + (9b% — 180 + 9b?)

= 16a?

MC/Mathematics 1



/Y \Alternative Soluti
Q} ) ernative So@

Let 2a + 83b = x and 2a — 3b =

©. (20 +.35)% + 2.(2a + 3b) (2a — 3b) + (2a — 3b)°
_ k' !‘\\23 @z ‘
= a7 2Xy + S
=n+yF ma+%+2a—wﬁ_mwﬁ-wa

SR 2R

2

1 17
X+ —=—
x 4 .
. . N\
- Squaring both sides Vv }

\ Y./

1 2 7\ ’ 1 257
+ - — H_ \,j"’_“ 3‘2 + — T e——
v 4 : 2 16

X

(x—l) :x2+l2-—2/ Xﬂ}/’é

2 N\
. }) 267 9 225 ( A
Tk 16 16\ 9~ )
\\M//
Taking square root on__both sides
11 )
- x 4 ‘\ A

o 1 (1 1) 256
2 s 3
Let units place digit of the}h/umber b(g
Then its tens place digit = x + 3 _J
Number formed = 10 (x + 3) + x = 11x + 30 b, <
Reversed number formed = 10x + x + 3 = 11x + 3 ] b

It is given that :



14 804 1l 8. 168 . T (T)
o9v 2182 (4 )

#=B A
N \—// . /\
Thus the number is 96 5
3!
dn

n],oql_,w QT‘) i

bt M—— o
B \\)1/1 frem 2

S

Drawing BC = 6 cm

For correct ZCBX = 120° v
For correct Z/BCY = 90°

For finding points A and D g ij L
, t.‘-\ \‘_?’,,r.»"
Joining AD " g\;\b M C‘\'\
(VAN

For correct labelling and writing dir}%sions
(Note : 1 mark should be deducted in whole if angles

are constructed using protractor).

Alternative question for visually
challenged students in lieu of Q. No. 27

N
~

‘ . S.P x 100
C.P. of watch = (100 - L)

¥ 1140 x 100

96

=¥ 1200

I

nNT



C.P. x (100 + P%)
1.00

1200 x 106 _ .
& ¥ 1A
= % 1260

S.P. of watch

]

os. | In AABC, AB = AC
ZACB = ZABG = 60°
ZBAC = 180° - 120° = 60°
In ABDC, BD = GD
/CBD = /BCD = 75°
/BDC = 180° — 150° = 30°

,m‘

>y A )
[+ ) g
9. Area_to bhe cemonted 2h ( i+ b) + lb@

\VM}Q kj = Z x 4.x (20 +15) + 20 x 15 m’
W4 L, 8 i @
. | .

N i
N v
\\ #| Lost ol cementing at the dl/ of ?) per m? |

Q& ; = 5><(580__; ol 1Y/
| Water required to fill the tank \
=l xbxh 3 ’lf

=20 x 15 ><4m/ 1200 m® ox1200 kl

OR

//"\.
D 10 an "
¢ W/ l,m.._m\
y ¢ & \ R / 26 a‘l}\" ! ‘Yo cm -_,_,f,-//"‘?
\‘\“ b\ ‘ A / .ﬂ.A,,.Au,,»,,.,,‘_,..",,{m,w, Ll N R

I o
=} ¢In

Construction ; Draw CE Il AD and CF 1. AB

BACYIN & . o7 41



30.

-, AECD 1is a parallelogram
- GE = AD = 26 cmf

and Al = CD = 20 ¢m

Also, BE = AB - AE = ZO'C"Q‘Q

Since, ECB is an isosceles 4,
BF = % BE = 10-cm@/ﬁ/ )
e /
In right A CI'B
AR 6%
CF = 24 cm )
., Arca of l;rapemm{ ABCD
= % x (AB + CD) x CF
= Y4 x 60 x 24 ( cm _/,729~cm

',L ) ( )
g (/ AT S
(i) 1 -2 hours — w/

(i1) 4 — 5 hours

L) 5
(n) 4 + 8 e “99 - 34 students
(iv) 8 + 6= l4__{s};}gdents
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Sports No. of Fracton Angle of
Students Pie-chart

Cricket 40 14—0(:)‘ = % % x 360° = 144°

Foothall 30 180% = 130 1% x 360° = 108°

Kabadd 20 22 | £ x860°=720

Basketball | 10 i%é% - % '1'16 x 360° = 36°

3x — 8

> 8

= x =28

MS/Mathemalics

It is given that

Let the two numbers be 3x and 4x

= 3 3x -8 =2 (4x - 8)

Thus, the numbers are 24 and 32.

13

Alternative question for visually challenged
students in lieu of Q. No. 30




